On the Rate of Convergence for Bivariate Beta Operators

Vijay Gupta and Naokant Deo

Dedicated to Professor Dumitru Acu on his 60th anniversary

Abstract

In the present paper, we introduce the bivariate Beta operators and study the rate of convergence for the bivariate Beta operators.

2000 Mathematics Subject Classification: 41A25, 41A35.

Keywords: Beta operators, Bivariate Beta operators, rate of convergence.

1 Introduction

A family of linear positive operators, from a mapping $C[0,\infty)$ into $C[0,\infty)$, the class of all bounded and continuous functions on $[0,\infty)$, is called Beta operators which is denoted by B_n and defined as

$$(B_n f)(x) = \frac{1}{n} \sum_{k=0}^{\infty} b_{n,k}(x) f\left(\frac{k}{n+1}\right),$$

where

$$b_{n,k}(x) = \frac{1}{\beta(k+1,n)} \frac{x^k}{(1+x)^{n+k+1}}, \quad x \in [0,\infty)$$

 $\beta(k+1,n)$ denotes the Beta function given by $\Gamma(k+1).\Gamma(n)/\Gamma(k+n+1)$.

The Durrmeyer variant of these operators was studied by Gupta and Ahmad [2]. Very recently Deo [1] has studied some direct results for the operators B_n . We now introduce the bivariate Beta operators as

(1.1)
$$B_n(f, x, y) = \frac{1}{n} \sum_{k=0}^{\infty} \frac{1}{n+k} \sum_{m=0}^{\infty} \frac{1}{\beta(k+1, n)} \frac{1}{\beta(m+1, n+k)} \cdot \frac{x^k y^m}{(1+x+y)^{n+k+m+1}} f\left(\frac{k}{n+1}, \frac{m}{n+1}\right)$$

where

$$(x,y) \in [0,\infty) \times [0,\infty) \equiv R_+^2 \text{ and } f \in C([0,\infty) \times [0,\infty))$$

In the present paper, we study the rate of convergence of these two dimensional Beta operators $B_n(f, x, y)$ by using the multivariate decomposition skills and the results of one dimensional Beta operators.

2 Basic Results

In this section we present some notational convention, definitions and basis results which are necessary to prove the main result.

For a function defined on the interval $[0,\infty)$ we set the following notations

$$C_{a,b,c,d}(R_+^2) = \{ f : f \in C(R_+^2), \ wf \in L_\infty(R_+^2) \}$$

$$C_{a,b,c,d}^0(R_+^2) = \{ f : f \in C_{a,b,c,d}(R_+^2), f(x,0) = f(0,y) = 0 \}$$

and

$$w(x,y) = x^{a}(1+x)^{b} \left(\frac{y}{1+x}\right)^{c} \left(1+\frac{y}{1+x}\right)^{d}$$

where 0 < a, c < 1; b, d < 0; $w(x) = x^a(1+x)^b$ and norm is defined as

$$||wf||_{\infty} = \sup |wf|$$
.

Also the weighted norm is given by

$$||f||_{w} = ||wf||_{\infty} + |f(x,0)| + |f(0,y)|.$$

We define the Peetre's K-functional as

$$K_{t,\phi^{\lambda}}(f,t) = \inf_{g \in D} \{ \|f - g\|_w + t\Phi(g) \},$$

where

$$D = \{g : g \in C(R_+^2), \Phi(g) < \infty, g_x, g_y \in A.C_{loc} \},\$$

and with $\phi^2(x) = x(1+x)$

$$\Phi(g) = \max\{\|\phi^{2\lambda}g_{xx}\|_{\omega}, \|\phi^{2\lambda}g_{yy}\|_{\omega}, \|\phi^{2\lambda}g_{xy}\|_{\omega}\}.$$

Through the present paper C denotes the positive constant not necessary the same at each occurrence.

Lemma 2.1. For the bivariate operators $B_n(f, x, y)$, we have

$$B_n(f, x, y) = \sum_{k=0}^{\infty} b_{n,k}(x) \sum_{m=0}^{\infty} b_{n+k,m} \left(\frac{y}{1+x}\right) f\left(\frac{k}{n+1}, \frac{m}{n+1}\right)$$
$$B_n(f, x, y) = \sum_{m=0}^{\infty} b_{n,m}(y) \sum_{k=0}^{\infty} b_{n+m,k} \left(\frac{x}{1+y}\right) f\left(\frac{k}{n+1}, \frac{m}{n+1}\right).$$

Proof. We have

$$B_{n}(f,x,y) = \sum_{k=0}^{\infty} \sum_{m=0}^{\infty} b_{n,k,m}(x,y) f\left(\frac{k}{n+1}, \frac{m}{n+1}\right)$$

$$= \sum_{k=0}^{\infty} b_{n,k}(x) \sum_{m=0}^{\infty} f\left(\frac{k}{n+1}, \frac{m}{n+1}\right) \frac{1}{(n+k)\beta(m+1, n+k)}$$

$$\cdot \left(\frac{y}{1+x}\right)^{m} \left(1 + \frac{y}{1+x}\right)^{-n-k-m-1}$$

$$= \sum_{k=0}^{\infty} b_{n,k}(x) \sum_{m=0}^{\infty} f\left(\frac{k}{n+1}, \frac{m}{n+1}\right) b_{n+k,m} \left(\frac{y}{1+x}\right)$$

The second assertion can be proved along the similar lines.

Remark 1. By using the properties of one dimensional Beta operators we have

$$\sum_{m=0}^{\infty} b_{n+k,m} \left(\frac{y}{1+x} \right) = 1 \text{ and } \sum_{k=0}^{\infty} b_{n+m,k} \left(\frac{x}{1+y} \right) = 1.$$

Lemma 2.2. Suppose $n \in N$ and $(x,y) \in \mathbb{R}^2_+$. Then it is easily verified from previous lemma that

$$B_{n}(1, x, y) = 1$$

$$B_{n}(s, x, y) = x, for f(s, t) = s,$$

$$B_{n}(t, x, y) = y, for f(s, t) = t,$$

$$B_{n}((s - x)^{2}, x, y) = \frac{\phi^{2}(x)}{(n + 1)},$$

$$B_{n}((t - y)^{2}, x, y) = \frac{\phi^{2}(y)}{(n + 1)},$$
and
$$B_{n}((s - x)(t - y), x, y) = \frac{xy}{(n + 1)}.$$

Remark 2. By Lemma 2.2, and using Holder's inequality we have

$$B_n(|s-x|, x, y) = O(\phi(x)n^{-1/2})$$

and

$$B_n(|t - y|, x, y) = O(\phi(y)n^{-1/2}).$$

Lemma 2.3. (i) If
$$(x,y) \in [\frac{1}{n}, \infty) \times [0, \infty)$$
, then

$$B_n((s-x)^{2m}, x, y) \le Cn^m(\phi(x))^{2m}$$

(ii) If
$$(x,y) \in [0,\infty) \times [\frac{1}{n},\infty)$$
, then

$$B_n((t-y)^{2m}, x, y) \le Cn^m(\phi(y))^{2m}.$$

Proof. Clearly by Lemma 2.1, and using the property of one dimensional Beta operators, we have

$$B_n((s-x)^{2m}, x, y) = \sum_{k=0}^{\infty} \left(\frac{k}{n+1} - x\right)^{2m} b_{n,k}(x) \sum_{m=0}^{\infty} b_{n+k,m} \left(\frac{y}{1+x}\right)$$
$$= \sum_{k=0}^{\infty} \left(\frac{k}{n+1} - x\right)^{2m} b_{n,k}(x) \le Cn^m (\phi(x))^{2m}.$$

The proof of (ii) is similar.

Lemma 2.4. For $0 < \lambda < 1$, $\phi^2(u) = u(1+u)$, $u \in [0, \infty)$, $t \in [0, \infty)$, we have

(2.4)
$$\left| \int_0^t |t - z| \, \phi^{-2\lambda}(z) dz \right| \le C(t - u)^2 \left(\phi^{-2\lambda}(u) + u^{-\lambda}(1 + u)^{-\lambda} \right)$$

Proof. Suppose $z = t + \mu(u - t), \ 0 \le \mu \le 1$, then

$$\begin{split} \left| \int_0^t |t-z| \, \phi^{-2\lambda}(z) dz \right| &\leq \int_0^t \frac{|t-z|}{z^{\lambda}} dz \Bigg\{ \frac{1}{(1+u)^{\lambda}} + \frac{1}{(1+t)^{\lambda}} \Bigg\} \\ &\leq \int_0^t \frac{\mu(t-u)^2}{(\mu u + (1-\mu)t)^{\lambda}} d\mu \Bigg\{ \frac{1}{(1+u)^{\lambda}} + \frac{1}{(1+t)^{\lambda}} \Bigg\} \\ &\leq (t-u)^2 \int_0^t \frac{\mu^{1-u}}{u^{\lambda}} d\mu \Bigg\{ \frac{1}{(1+u)^{\lambda}} + \frac{1}{(1+t)^{\lambda}} \Bigg\} \\ &\leq \frac{1}{2-\lambda} (t-u)^2 \Big(\phi^{-2\lambda}(u) + u^{-\lambda}(1+u)^{-\lambda} \Big). \end{split}$$

The proof is completed.

Lemma 2.5.

(2.5)
$$\sum_{k=1}^{\infty} \sum_{m=1}^{\infty} b_{n,k,m}(x,y) \frac{\omega(x,y)}{\omega(\frac{k}{n+1}, \frac{m}{n+1})} \le C.$$

Proof. From [3], we get

$$\sum_{k=1}^{\infty} b_{n,k}(x) \frac{\omega(x)}{\omega(\frac{k}{n+1})} \le C \text{ and } \sum_{k=1}^{\infty} b_{n,k}(x) \left(\frac{\omega(x)}{\omega(\frac{k}{n+1})}\right)^2 \le C$$

By using multivariate decompose skills, we obtain

$$\sum_{k=1}^{\infty}\sum_{m=1}^{\infty}b_{n,k,m}(x,y)\frac{\omega(x,y)}{\omega(\frac{k}{n+1},\frac{m}{n+1})}$$

$$= \sum_{k=1}^{\infty} b_{n,k}(x) \frac{\omega(x)}{\omega(\frac{k}{n+1})} \sum_{k=1}^{\infty} b_{n+k,m} \left(\frac{y}{1+x}\right) \frac{\omega\left(\frac{y}{1+x}\right)}{\omega(\frac{m}{n+k+1})} \le C.$$

Lemma 2.6. If $f \in C^0_{a,b,c,d}(\mathbb{R}^2_+)$, then

Proof. Using Lemma 2.1 and Lemma 2.5, we have

$$\left| \omega(x,y) \sum_{k=1}^{\infty} \sum_{m=1}^{\infty} b_{n,k,m}(x,y) f\left(\frac{k}{n+1}, \frac{m}{n+1}\right) \right|$$

$$\leq \|\omega f\|_{\infty} \sum_{k=1}^{\infty} b_{n,k}(x) \frac{\omega(x)}{\omega\left(\frac{k}{n+1}\right)} \sum_{m=1}^{\infty} b_{n+k,m}\left(\frac{y}{1+x}\right) \frac{\omega\left(\frac{y}{1+x}\right)}{\omega\left(\frac{m}{n+k+1}\right)} \leq C \|\omega f\|_{\infty}.$$

The proof is completed.

3 Main Theorem

Theorem 3.1. If $f \in C^0_{a,b,c,d}(\mathbb{R}^2_+), \ 0 < \lambda < 1$ then

$$(3.1)\ \omega(x,y)|B_n(f,x,y) - f(x,y)| \le C.K_{2,\phi^{\lambda}}(f,n^{-1}(\phi^{2(1-\lambda)}(x) + \phi^{2(1-\lambda)}(y)))$$

where C is positive constant independent from n, x, y.

Proof. Initially

$$(3.2) B_n\left((s-x)^2(1+s)^{-\lambda}; x, y\right) \le Cn^{-1}\phi^2(x)(1+x)^{-\lambda},$$

(3.3)
$$B_n\left((t-x)^2(1+t)^{-\lambda}; x, y\right) \le Cn^{-1}\phi(y)(1+y)^{-\lambda},$$

$$B_n\left((s-x)(1+s)^{-\frac{\lambda}{2}}(t-y)(1-t)^{-\frac{\lambda}{2}}, x, y\right)$$

$$\leq C.n^{-1}\phi(x)\phi(y)(1+x)^{-\frac{\lambda}{2}}(1+y)^{-\frac{\lambda}{2}}.$$

By using Shwartz's inequality, Hölder inequality, Lemma 2.1 and Lemma 2.3, for $(x,y) \in I_n = [\frac{1}{n}, \infty) \times [\frac{1}{n}, \infty)$, we obtain

$$B_n\left((s-x)^2(1+s)^{-\lambda}; x, y\right) \le \left(B_n(s-x)^4, x, y\right)^{\frac{1}{2}} \left(B_n(1+s)^{-2\lambda}, x, y\right)^{\frac{1}{2}}$$

$$\le \left(B_n(s-x)^4, x, y\right)^{\frac{1}{2}} \left(B_n(1+s)^{-2}, x, y\right)^{\frac{\lambda}{2}}$$

$$\le C.n^{-1}\phi^2(x)(1+x)^{-\lambda}.$$

Now for $(x,y) \in I_n^c$, we get

$$B_n ((s-x)^2 (1+s)^{-\lambda}; x, y) \le (B_n (s-x)^2, x, y)$$

$$= n^{-1} \phi^2 (x)$$

$$= n^{-1} \phi^2 (x) \frac{(1+x)^{\lambda}}{(1+x)^{\lambda}}$$

$$\le 2^{\lambda} n^{-1} \phi^2 (x) (1+x)^{-\lambda}.$$

Similarly we can prove (3.3) and (3.4).

Now again using Lemma 2.1, Lemma 2.3 and (2.4), (3.1), (3.2), (3.3) and applying the Taylor's formula as well as Hardy-Littlewood majorant, for $g \in D$, we obtain

$$\omega(x,y)|B_n(g,x,y)-g(x,y)|$$

$$\leq w(x,y) \left| B_{n} \left(\int_{x}^{s} (s-\eta) \frac{\partial^{2}g(\eta,y)}{\partial^{2}x} d\eta, x, y \right) \right| \\ + w(x,y) \left| B_{n} \left(\int_{y}^{t} (t-\xi) \frac{\partial^{2}g(x,\xi)}{\partial^{2}x} d\xi, x, y \right) \right| \\ + w(x,y) \left| B_{n} \left(\int_{x}^{s} (s-\eta) \int_{y}^{t} (t-\xi) \frac{\partial^{2}g(\eta,\xi)}{\partial^{2}x} d\eta d\xi, x, y \right) \right| \\ \leq C \left[\left\| \omega \phi^{2\lambda} g_{xx} \right\|_{\infty} \phi^{-2\lambda}(x) B_{n} \left((s-x)^{2}, x, y \right) + x^{-\lambda} B_{n} \left((s-x)^{2}(1+s)^{-\lambda}, x, y \right) \right. \\ + \left\| \omega \phi^{2\lambda} g_{yy} \right\|_{\infty} \phi^{-2\lambda}(y) B_{n} \left((t-y)^{2}, x, y \right) + x^{-\lambda} B_{n} \left((t-y)^{2}(1+s)^{-\lambda}, x, y \right) \\ + \left\| \omega \phi^{2\lambda} g_{xy} \right\|_{\infty} \phi^{-\lambda}(x) \phi^{-\lambda}(y) B_{n} \left((s-x)(t-y), x, y \right) \\ + x^{-\lambda} B_{n} \left((t-x)^{2}(1+t)^{-\lambda}, x, y \right) \right] \\ \leq C. n^{-1} \left(\phi^{2(1-\lambda)}(x) + \phi^{2(1-\lambda)}(y) + \phi^{1-\lambda}(x) \phi^{1-\lambda}(y) \right) \Phi(g) \\ (3.5) \leq C. n^{-1} \left(\phi^{2(1-\lambda)}(x) + \phi^{2(1-\lambda)}(y) \right) \Phi(g).$$

Thus, from (2.6) and (3.5), for $g \in D$ and $f \in C^0_{a.b.c.d}(\mathbb{R}^2_+)$ we have

$$\omega(x,y) |B_n(f,x,y) - f(x,y)| \le |\omega(x,y)B_n((f-g),x,y)| + \omega(x,y) |f(x,y) - g(x,y)|
+ \omega(x,y) |B_n(g,x,y) - g(x,y)|
\le C.K_{2,\phi^{\lambda}} (f, n^{-1}(\phi^{2(1-\lambda)}(x) + \phi^{2(1-\lambda)}(y))).$$

The proof is completed.

References

- [1] Deo N., Direct result on the Durrmeyer variant of Beta operators, Communicated.
- [2] Gupta V. and Ahmad A., Simultaneous approximation by modified Beta operators, Instanbul Uni. Fen. Fak. Mat. Der., 54(1995), 11-22.
- [3] Xuan Peicai, Rate of convergence for Baskakov operators with Jacobi-Weights, Acta Mathematicae Application Sinica, 18 (1995), 129-139.

School of Applied Sciences, Netaji Subhas Institute of Technology Azad Hind Fauj Marg, Sector 3, Dwarka, New Delhi - 110075, India. E-mail: vijay@nsit.ac.in

Department of Applied Mathematics, Delhi College of Engineering, Bawana Road, Delhi - 110042, India. E-mail: dr_naokant_deo@yahoo.com